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3.
Qnet.ar St.d Na,0+K,0
(vdaf) DT
> 5000kcal < 15% < 2.5% < 2.5% > 1350
< 50mm
4700kcal < 15% <4.5% < 2.5% —_—
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5000 Qnet.arz 4700 Kcal/ 100 1. 2.5%<St.d< 3.5% St.d 0.1 1 95-110%
Qnet.ar = 5 onet.ar<4700 202?3 / Qn.et ar 0.1 00% 95Y%
- - - 0 0 < <
5000 160 0.008 7 2. 3(.)510<St.ds 4.0% St.d 0.1 3 b 0.002 / h
st.d < 2.5%, : 100 ) . 80%< <90%
3. St.d>,4.0% St.d 0.1 5 0.1 0004 / .
. : 70%< <80%
Vdaf < 154 Vdaf >15% Vdaf Na;0+K;0 T0.006 /-
Na,0tk,0 < .1 0.005 / 60%5_0-008 , <7q%
2.5% 2.5% 50%< <60%
0.xxx / 8000 < < 12000 1. 2.5%<Na,0+k,0< 3.5%, 0.1 2 -0.010 / -
8000 0.02 / 40%< <50%
: 0 + < 0 -0.015 / .
512000 12000 2. 3.5%<Na,0+k,0< 4.5%, 0.1 5 <t
0.0 /7 3.Na,0+k 054 5%, 0.1 10 -0.020 /-
Qnet.ar> 4700Kcal/
St.d< 4.5 % <4700
vdafs 15 %
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